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D.A.V. PUBLIC SCHOOL, KURUKSHETRA
SUMMER VACATION ASSIGNMENT
CLASS : XI

SUBJECT - ECONOMICS

What were the adverse impacts of the destruction of Indian handicraft
industries by the British rulers during colonial period.

What were the main reasons for slow growth of economy during British rule.
Explain how was Zamindari System an important cause of agricultural
stagnation during colonial period.

Critical appraisal of economic planning till 1991.

Explain the agrarian reforms undertaken for the development of agriculture
sector.

The mean marks obtained in an examination by a group of 100 students were
found to be 49.46. The mean marks obtained in the same examination by
another group of 200 students were 52.32. Find out the mean of marks
obtained by both the groups of students taken together.

The mean salary paid to 1000 workers of a factory was found to be Rs. 180.4.
Later on it was discovered that the wages of two workers were wrongly taken
as 297 and 165 instead of 197 and 185. Find the correct mean.

Find out mean of sales and expenses of the following 10 firms.

Firms 1 2 3 4 5 6 7 8 9 10

Sales 50 50 55 60 65 65 65 60 60 50
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10.

11.

12.

13.

14.
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Expenses | 11 13 14 16 16 15 15 14 13 13
Calculate Median, Q1, Q3, P70, D8
Marks | 10 20 30 40 50 60 70 80
f 2 8 16 26 20 16 7 4
If AM.is 28. Find (a) missing frequency (b) the median of the series.
Profit 0-10 10-20 20-30 30-40 40-50 50-60
f 12 18 27 ? 17 6
Calculate mean, median and mode.
Prod. 50- | 53- | 56-59 | 59-62 | 62-65| 65-68 | 68-71|71-74| 74-
53 56 77
No. of 3 8 14 30 36 28 16 10 5
firms
Calculate Median :
Class 10 20 30 40 50 60 70
Interval
(below)
f 20 30 40 60 90 100 120
Calculate Mode :
Class 10-19 | 20-29 | 30-39 | 40-49 50-59 60-69 | 70-79
Interval
(below)
f 8 6 20 50 20 2 3
Median = 23, N=100. Find Missing Frequency:
Marks 0-10 10-20 20-30 30-40 40-50
f 8 30 ? 12 10
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